=

% 5419 AgPE Aol kA A8 22

oo

@ {A+(-B)}+C=A+{B+C}
@(A+B)+(—C) =A+{B+(-0)}
® A-(B+C)=(A-B)+C

@® A+B+C=A+C+B

® A+ (-B)+C=C+(-B)+A
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@ {A+(-B)} +C=A+{(-B)+C}
@A-B+C)=(A-B)-C = ®Wio] Z3H AJA=
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@A+B+C=A+C+B = nggzo|r},

@A+ (-B)+C=C+(-B)+ A = w&Hojc},
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@ (-1 x (-1)? = -1 @ (-12)x (+1)? = -1
@(+22) X (-12) = -2 @ (+2)? x (+2)3 =32
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9. (-16)xa=1,(~3)+b =02 u axpe] 458 Pafoieh

|
[=

>
I> Xekr o

oHd =

B

8
16=—-
5
at -39 QpolmR o= -2

4) 4
== b=00BEE2 ph=+—
(5 + | +z

o= (D)x(s8) =

1
—5 ©l el 20tk




T 485 a,b7taxb>0, bxc< 02, &
A2?




11.

A5l =4 b =7d W a-b7tB S AR F A2

® 3 @ 5 ® 7 @9  @n

a=4, -4, b=17, —7°|BER

a-b7H 7V & Gl VY 2 L a7t B4 b 7H 25 A,
Z a=4.b=-7 % 19 gL FopA Ak,
“a-b=4-(-7)=11

a=4, -4, b=7, -7°B24-bERT 7 EHA
4-7=-3,4-(-1)=11,-4-7=-11,-4-(-7) =3
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16.

52 a b 7h O S WA W, a+ b © G2 Totelet,

a(-2) =54 914

a=>54+ (—%)
=54+ (-7.5)
=-21

b+ (-16.2) = -8 °l|A]
b= (-8)—(-16.2) = (-8) + (+16.2) = 8.2
La+b=(-21)+82=6.1
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20. Al % a, b, col Hotel axb =5 ax(b+c) =32 T, axc
20

5 3
® 2 o-; o0-: @2 0-s

ax(b+c)=axb+axc=3,
S54+axc=3
Laxce=-2




